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Lesson-3 : Addition and Subtraction

Warm Up
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Thus, money left in his account is ¥ 2,97,840.
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Thus, he spends X 1,70,610 in all.
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Exercise-1
1. (a) (ii) Total number of students who appeared for the examination
@ =27,51,650+18,42,725 = 45,94,375
1
2
4

(b) (i) Total money spent by Mr Bajaj =¥ 34,25,600 + X 46,450

00) =3 34,72,050
3425600
+ 46450
3472050
(c) (ii) Total number of chocolates produced in the three months
00)0) = 12,35,450 + 20,25,800 + 15,20,875
1235450 =4782125
2025800
+ 15208758
4782125
2. @ OO 00 (b) Q0 @
43251037 50040732
+ 12973485 22351625
56224522 + 15746210
88138567




4. Bigger number = smaller number + difference
=15,28,978 + 24,50,172 = 39,79,150
0]0/0)
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5. Total amount paid for the car =¥ 15,85,200 + ¥ 35,955 + ¥ 55,260
©]0]0]0) =316,76,415
58

1 5200
38985

- 55260
1676415




Exercise-2

4,85,21,943

8,25,55,095 - 3,40,33,152

(a) (iii) Required number =

1.

48521943

8,58,99,725 — 8,27,45,600 = 31,54,125

85899725

(b) (i) Increase in population

-82745600

3154125

T 18,87,250 +% 3,45,500 =% 22,32,750

(¢) (iv) Money withdrawn

< 25,02,400

Money left =¥ 47,35,150 - ¥ 22,32,750

0]0.0;

(o]

887250
+345500
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2502400

2232750
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-10086748
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2. (a)
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Checking :
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3. (a)

46704815

©)

34322315

o @®

©)
26238040
+56218144

Checking :

82486184
-56218144

(b)

82456184

26238040
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